Bpyc 100 x 100*6 (0,06Mm.ky6) 3aroToB.a/cTpout.BE3 HAC, wt 549,00
Bpyc 100 x 100*6 HecTaHgapTHasi, WT 252,00
Bpyc 100 x 150*6 (0,09m.ky6) 3aroToB.a/ctpout. BE3 HAC, wTt 799,00
Bpyc 100 x 150*6 HecTaHgapTHasi, WT 435,00
Bpyc 150 x 150*6 (0,135m.ky6) 3arotoB. a/ctp.BE3 HAC, wTt 1 257,00
Bpyc 200 x 200*6 3arotoBka g/ctpout. BE3 HAC, wTt 2 199,00
[ocka obpesHas 25*100*6 (0,015m.ky6.) 3arotoB.a/cTponT.BE3 HOC, wr 133,00
Hocka obpesHas 25*100*6 HecTtaHaapTHas (0,015m.ky6.), wT 85,50
[ocka obpesHas 25*150*3 HecTaHgapTHas, WT 45,00
Hocka obpesHas 25*150%6 (0,0225m.ky6.) 3aroTtos.a/ctpout.BE3 HAC, wTt 199,00
[ocka obpesHas 25*150*6 HecTtaHaapTHas (0,0225m.ky6.), wT 125,00
Hocka obpesHas 25*200%6 (0,03m.ky6.) 3aroTtoB.a/ctpout.BE3 HAC, wt 266,00
[ocka obpesHas 40*100*6 (0,024m.ky6) 3arotoB.a/cTpont.BE3 HAOC, wTt 214,00
[ocka obpesHasa 40*150*6 HecTaHOapTHas, WT 126,00
[ocka obpesHas 50*100*6 (0,03m.ky6) 3arotoB.a/ctpout.BE3 HOC, wt 266,00
Hocka obpesHasa 50*150*6 (0,045m.ky6.) 3arotoB.a/ctpout.bE3 HAC, wt 399,00
[ocka obpesHas 50*150*6 HecTaHgapTHas, WT 250,00
Hocka obpesHasa 50*200*6 (0,06m.ky6) 3aroToB.a/ctpont.BE3 HOC, wr 549,00
[ocka obpesHas 50*200*6 HecTtaHaapTHas (0,06m.ky0), wT 252,00
[ocka obpesHasa 70*50*6m HecTaHgapTHas, WT 117,00




